FriendsNo.219 (2021 11 )
Web

|77/l:/912ul\ wERYN mmm EmonS

CLAMPING KITS No.E-9412

S45C-S45CHHSEER BEA

FEIE) 23
L ERANSEN
— FvFI0OvT 2FVSISVS
STB1,2.3%248 BFuhst
enn
STB4,5.6248 1:; i RILMRICEHET
STB7,8,9% 248 =218
e T-StEvhk
REAN=21F 2SRRIV I5IFuk
\ RIMRICEDETTS, EFuhst
100,125,150, 175,200% RILNRICEDETAHE
84K =
HYTUYTFyb TROVMF vk
SFuhst RSN
RIVNMEICE DB TAE RILMEICEDET6ME
W%k g = * EEEER  * LR TRE
F—5—No. No. BATEM *VRGE) T-Styh  ZFvFISYFEE) 0 AFvTTOvIE2E)  EEkg it

* 901050 |CMMO108| 10 @ M 8X1.25  Tset :STCO101-STC0102-STCO103: STB-1:STB-2-STB-3 7.5 | 49,900
#901051 |CMM1210| 12 = MI10X1.5 @ Tset :STC0201-STC0202-STC0203 = STB-1-STB-2-STB-3 8.1 52,000
* 901052 |CMM1410| 14  M10X1.5 : Tset :STC0201-STC0202-STC0203: STB-1-STB-2-STB-3 : 10.1 52,500
* 901053 |[CMM1412| 14 = M12X1.75 @ 1set :STC0301-STC0302-STCO303 ¢ STB-1-STB-2-STB-3 © 10.5 | 54,500
* 901054 [ CMM1612| 16 @ M12X1.75  Tset :STC0301-STC0302-STCO303: STB-1:STB-2-STB-3  11.0 54,500
#901055 |CMM1614| 16 = M14X2 1set | STC0401-STC0402-STC0403 . STB-1-STB-2-STB-3 = 12.5 | 55,500
* 125638 |CMM1812| 18 = M12X1.75  Tset :STC0301-STC0302-STCO303 . STB-1-STB-2-STB-3 = 11.2 | 54,500
*901056 |CMM1814| 18 = M14X2 1set | STC0401-STC0402-STC0403 : STB-1-STB-2-STB-3 = 15.5 | 55,500
*901057 |CMM1816| 18  MI16X2 1set : STC0401-STC0402-STCO403: STB-1-STB-2-STB-3 = 19.5 59,500
#901058 |CMG1612| 16 - M12X1.75  Tset ' STC0301-STC0302-STCO303 = STB-4-STB-5-STB-6 . 22.0 | 79,000
* 901059 | CMG1614| 16 = M14X2 1set :STC0401-STC0402-STCO403 . STB-4-STB-5-STB-6 . 23.5 80,500
* 125639 |CMG1812| 18 @ M12X1.75 @ 1set :STC0301-STC0302-STCO303 ¢ STB-4-STB-5-STB-6 : 22.2 | 79,000
*901060 |CMG1814| 18 « M14X2 1set : STC0401-STC0402-STCO403: STB-4-STB-5-STB-6 = 24.0 | 80,500
*901061 |CMG1816| 18 = MI16X2 1set | STCO0401-STC0402-STC0403 . STB-4-STB-5-STB-6 = 24.5 | 84,500
* 901062 | CMG2016| 20 = M16X2 1set :STC0401-STCO402-STCO403 . STB-4-STB-5-STB-6 . 24.5 85,500
* 901063 |CMG2018| 20 @ M18X25  Tset :STCO501-STC0502-STCO503 ¢ STB-4-STB-5-STB-6 @ 25.0 | 99,500
* 901064 | CMG2218 | 22 @ M18X25 © Tset :STC0501-STC0502-STCO503 ¢ STB-4-STB-5-STB-6 © 25.0 | 100,000
#901065 |CMG2220| 22 = M20X25 @ Tset ' STCO501-STC0502-STCO503 @ STB-4-STB-5-STB-6 = 27.0 | 103,000
* 901066 |CMG2418 | 24  M18X25 - Tset :STCO501-STC0502-STCO503 . STB-4-STB-5-STB-6 - 25.0 | 101,000
* 901067 |CMG2420| 24 = M20X25 @ Tset :STCO501-STC0502-STCO503 @ STB-4-STB-5-STB-6 @ 32.0 | 105,000
* 901068 | CMG2620| 26 @ M20X25 © 1set :STCO501-STC0502-STCO503 ¢ STB-4-STB-5-STB-6 @ 37.0 | 105,000
#901069 | CMH2622 | 26 - M22X25 @ 1set ' STC0601-STC0602-STC0603 = STB-7-STB-8-STB-9 : 43.0 | 158,000
#901070 | CMH2822 | 28 « M22X25 @ Tset ' STC0601-STC0602-STCO0603 = STB-7-STB-8-STB-9 = 42.0 | 160,000
* 901071 | CMH2824 | 28  M24X3 1set :STC0701-5TC0702-STCO703 ¢ STB-7-STB-8-STB-9 = 44.0 | 171,000

N ANNJ ANV

miERAR

SINCE 1560

NABEYA co.uo. CADF—99 50—k « EHEREE Web U/ hT ! [ AP \ “* 743

FriendsNo.219/2021.112EkR






